Bitspower®

fic
E A ASUS- ROG MAXIMUS X HERO#& &
(1) BP-WBMARMXH 14
(@ 10 sskEmsA 3K
(3 01mmEBET 4R
(@ crPustRBA 1R
(B) crPuBBEBA 1A
e (6) CPUEEBHIR 1A
(@) M3x10 E=kigsk 4%
M2.5x6%8 3 i 44 43

Accessories
Designed for ASUS- ROG MAXIMUS X HERO

(1) BP-WBMARMXH 1SET
(2 1.0 mm Thermal Pad 3PCS
(3 0.1 mm Washer WithGum 4 PCS
(@ CPU Back Pad 1PCS
(8) CPU Paste Pad 1PCS
(6) CPU Metal Backplate 1PCS
@ M3x10 mm Screw 4 PCS
M2.5x6 mm Screw 4 PCS
fc &

%} ASUS- ROG MAXIMUS X HERO i&it
(1) BP-WBMARMXH 14
(@ 10 =KSHRBA 3K
(3 01mmERES 4R
(@ cpumtREA 1A
B CPUBRESZA 1A
(6) CPUEEER 1A
(@) M3x10 Zskigy 4%
M2.5x6583K R 44 4%



Bitspower’

?"f\ = E’J .I-.E EE ]E Fﬁ ﬁl-. E Thermal Paste Applied Correctly Positions.
] esEpens EZ] Using Appropriate Amount Of Thermal Paste.

B 1 MmmEsas [ 1 MM THERMAL PAD
EE KA BERRAASHERREERNUEL - £RAEH - SRAROBRT - A Before fill in water,please make sure all the component be installed correctly, AR MKAT - BARAASHERREERNUE L - EFAFEN - BAKRWERT -

E24NREBKRE - BRRRAEREBRER - BRRERKTHRBME ORI - avoidingleaking happen and destroy the PC component. T2 NHBA - WRERAEREBAEN - B RERKTIS RSB

V2/%8 ZhR




